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ool 2ol Ysts x=X e (el @ e)
SA - B (30) - MM - BES 01l ¢ o4 J1E o HDS2
ST 20,660,482 20,718,313 ~57,831

2 32,894 32,894 0

= 146,294 144,294 2,000

Al 20,481,294 20,541,125 ~59,831

NYXX Bmcie 2oH(LUDZHT/LHT) 8,019,355 7,963,214 56, 141
2 32,894 32,894 0

= 143,928 141,928 2,000

Al 7,842,533 7,788,392 54,141

25l Yots Ex e 3,243,411 3,268,911 25,500
21 LHA 0 32,000 £32,000
201 YEt2 | 0 32,000 £32,000

03 #AI2 I 0 32,000 £32,000
OWESANSE JIEHa M= 0 0 10,000 A 10,000
OWESNSS Il 8 Al 02 0 20,000 £20,000
OWESANSE JIEsiA B 0% 0 2,000 A2,000

OIEE NEEY T4 104,132 98,632 5,500
201 YErS Ayl 81,332 75,832 5,500

01 At 22l 74,432 68,932 5,500
O2BAAEEH MR EA 5,500,008 5,500 0 5,500
srelXMol el 59,522 58,502 1,000
303 =& 2 3,500 2,500 1,000
R 3,500 2,500 1,000
ORTZRE PAE 50,0008 * 70 3,500 2,500 1,000

e BASSSY 360,522 353,353 7,169
= 32,894 32,894 0

< 15,000 15,000 0

Al 312,628 305,459 7,169

HIRIBIE A BOSS X (XHH) 22,019 14,850 7,169
402 QIR H2 01 & 7,169 0 7,169
NEERENEEEIN T D) 7,169 0 7,169
OMZe Z4UsH 2232 7,169,008 7,169 0 7,169
ZOIXX 1B s 2,230,745 2,154,905 75,840
< 126,630 124,630 2,000

Al 2,104,115 2,030,275 73,840

S #FEN 243 N 157,100 112,930 44,170
201 YEr2 | 1,000 750 250

01 At 22l 1,000 750 250
OSX¥z M= 25,0008 * 40% 1,000 750 250

301 LB BHZ 130,660 86,740 43,920

12 JIEH2 &2 65,620 21,700 43,920
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M YA YA 2o (S SHTY /YY)
S FUXX OIS (Sl & &)
SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
Os% Sddl XA 43,920,000& 43,920 0 43,920
DISSSH XA 4,000 0 4,000
=) 2,000 0 2,000
Al 2,000 0 2,000
307 glztol & 4,000 0 4,000
S 2,000 0 2,000
Al 2,000 0 2,000
02 It HAMAEE 4,000 0 4,000
O0I2ZAE, AN (EZSESAMY)
4,000,000 4,000 0 4,000
= 2,000 0 2,000
Al 2,000 0 2,000
Or23l2 A&l X3 19,071 15,481 3,590
402 2I2tXt=01 & 19,071 15,481 3,590
01 U2 E2ALE X (KM R) 19,071 15,481 3,590
OAsX0tEs& A28 E=3AM
3,590,000 3,590 0 3,590
HEAHaII2s SdHMX 42,500 40,300 2,200
307 21201 & 42,500 40,300 2,200
02 HHFHANGEEX 11,980 10,180 1,800
ott2A &I 2s=2 11,980 10,180 1,800
ottEAalI2sS=E (ol (8)&(1L)Z(T) bt
2AXNZoIE &) 1,800,000 1,800 0 1,800
03 2IAHHEE2HHIES 30,520 30,120 400
OHIEAHAIIEH 2SS X (224l)
3,220,000 3,220 2,820 400
MOFESXIE X Sl X2 87,485 65,485 22,000
402 212t X201 & 24,200 2,200 22,000
01 U2 E2AILE X (KA 24,200 2,200 22,000
OMDtS3 2 JDis22 (e g+ & HES 3
Ab) 22,000,000& 22,000 0 22,000
SESHQ AZAIM =& 24,080 24,200 A 120
405 TtabH SHI 2,880 3,000 A 120
01 AL EZFH S 2,880 3,000 A 120
OU=sxags32t 4yl 2 2,880,000 2,880 3,000 A 120
dE - XN 23 =& 934,017 935,385 A 1,368
=) 2,298 2,298 0
Al 931,719 933,087 A 1,368
OHEXOI HEBAAH 2 292,436 292,444 A8
405 TtobH SHI 16,183 16,191 A8
01 AL ESH SH 16,183 16,191 A8
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ool B - N Y2Es =X CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
OARY Jtast A SAN A2(X ¢
16,182,260& 16,183 16,191 A8
ANgas d23(2F) 123,954 125,314 A 1,360
405 TtabH S| 15,640 17,000 A 1,360
01 AL ESFH S 15,640 17,000 A 1,360
O3sJIEt Mol== AECX 2& 54
15,640,000& 15,640 17,000 A 1,360
HE2A I (RAXI D) (IIEH/IIE) 12,271,347 12,386,428 A 115,081
lERAH(EZ) 12,071,922 12,187,003 A 115,081
AR HHI(ZBZ) 12,071,922 12,187,003 A 115,081
101 14l 384,919 500,000 A 115,081
03 B2 (RIAHA)Z2RHE > 384,919 500,000 A 115,081
O824 &A= 384,918,570& 384,919 500,000 A 115,081
Hees (MY (LSIHY/NLHE - HEXRF) 1,109 0 1,109
RSN 1,109 0 1,109
=L HEHE S 1,109 0 1,109
802 gt&t = DI EF 1,109 0 1,109
01 I DEBXSHE= 103 0 103
02021 & SAH ZOUOIH XN& S8AS
Ol &t 20,840& 21 0 21
020218 &= S& NESAEE It AMdlA
ANEAAMNY ZH&H g Ol Xt 81, 140& 82 0 82
02 Al - SHIZEXZEHES 1,006 0 1,006
020218 HA MY & NSLHES NS AMLY
Ol &t 280& 1 0 1
Q20214 THESAHEH Z2 2P (QUEE
KNEAY) Zextoh o o] Xt 1,004,860 1,005 0 1,005




